EARAROBEEIERT — 2 N— IBISH —F

2015568108 (k) 4EIFIRI4H

m 2K YR 2% ‘ [Xfg] B ‘ [EmAE]  — | % (&) 10000 FEE
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B2 | BT 1:01.5 1-1 37.4| — 1 424 | BHEE (ALiEE)
1 4| BAAIN—Y 54.0 =) -8) g .
L7274 By RKNT—=F TREFHS
s 4 o2 | EREZ 1:01.5 4-5 37.0| — 2 458 | /NEIETT (AtiEE)
oM s |T—X 54.0 () 42) | W Nic ks
RV TATI94L K B:O9HUH =i =
= 42 | ATEEM 1:02.0 4-3 37.5| — 3 444 | ZEREX (QLEE)
30811 T4 72>VAT7 14— 54.0 (2 1/2) (+16) REHEA =
L:ZyY—>ke—0O— FB:T7zFU-F1K Yy v LS
SYITS # o2 | AllE 1:02.0 2-3 37.8| — 4 490 | KA (AtimE)
410|771 H = 54.0 (757 o |EREE
R:R=—HNF B:FxaYIAFEL— BEZX 2 Y K
S, t 2 | BHEE 1:03.1 2-2 38.9 — 454 EpFNEI (dtiEE)
5/5||TVavd> * 5.0 (5) ° (_54) k=
R:d—IWR7Y 21—l B:FUEAFr—L &I *E—
2 o3 4 2 | FHLEHX 1:03.4 6-6 38.7| — 7 42 | 1EFHFBR (tiEE)
61812/ &1 T7FYay 54.0 (1 1/2) (-q) |HEEH
RiAL Y3 R—F— BivARKU—%— )| 445
S, o 4 2 | RTFHH 1:03.9 9-9 38.6| — 9 444 | RER (dtiEE)
7 2|/ XN=23> 54.0 2 1/2) (-4) |WLEHA= .
L:hT/RI47T B:AXC AT ALY ats B
) p PETS : < = HHE= (i)
5 =T UPY. i 2 Sl 1(.10/42.)0 7-8 39.2 8 :}2) e e
L:a-1T>90> BNTITaTI—Ib HRREFEKS
o g FETY :05. - . — FENESE (deimE)
9l7|9|LANIN=I o2 54.0 1(075)4 1071035 " ;ﬁo) WTE -
L:g 4 Fx 0 ML BiNX—LAF7YLd KALHE
S i 2 | AMiEE 1:05.7 7-7 40.9| — 10 | 420 |‘BEAEE (dtEE)
10[5|5| NF—F7 54.0 (1 172) 1oy | B) K=25T
R:HTIKIAY BEINUTIXT SIS
- N ILIARRR 5 E :05. - . - WARE (tEE
111111 AFr—hrFT770— o2 A51.0 * 1(705[:)8 e %3 ® (4_42[:; J??KEH -
L:2=/xLLy b BiNCTha-h i/ ¢ie]
2 | BHMEE = - — — — — | K]Math (AtisE)
£k 3| F= THTAA i 54.0 (BH) (—) |l -
R:THAFRIA— B:FaundLAL B3 FIRR
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= 4,(6,10),(8,11),12,(5,7),2,9,1
43—+ — 4,6,(10,11),8,12,5,7,2,9,1
[ RN
B OB 4 1504 714K 4-8 170H e & 4-6 410 &R 4-8-11 710M
8 B 4 1009 4-11 230M B = 4-8 5004 JEH 4-8-11 1,930
8 130M 8-11 520M B H 4-8 460
1 130H4

ABICOVWTRDTEEERROODE. TR LIV,




